

Integral Inequalities of Steffensen Type for Some Different Classes of Functions

Erhan SET^{1*}, Emre KARAMAN², Barış ÇELİK³ and Ali KARAOĞLAN⁴

¹ Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Türkiye,
erhanset@yahoo.com

² Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Türkiye,
e.karaman5222@gmail.com

³ Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Türkiye,
bariscelik15@hotmail.com

⁴ Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Türkiye,
aliblackboy80@hotmail.com

Abstract

In this paper, we have obtained some new integral inequalities of Steffensen type for P -function and η -convex function with the help of identities proved by Mitrinovic et al..

Keywords: Convex function, η -convex function, P -function, Steffensen inequality, Hermite-Hadamard inequality.

1. Introduction

Many function classes have been defined in the historical process of mathematics and one of these function classes is the class of convex functions. This function class has offered new application areas to mathematicians. The definition of this function class, which allows many new results to be obtained with the studies carried out on it and therefore attracts the attention of mathematicians, is as follows.

Definition 1.1 The function $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$, is said to be convex if the following inequality holds $f(\lambda x + (1-\lambda)y) \leq \lambda f(x) + (1-\lambda)f(y)$ (1.1) for all $x, y \in [a, b]$ and $\lambda \in [0, 1]$. We say that f is concave if $(-f)$ is convex.

Received: 02.11.2023

Accepted: 28.12.2023

Published: 31.12.2023

*Corresponding author: Erhan SET, PhD

Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Türkiye

E-mail: erhanset@yahoo.com

Cite this article as: E. Set, E. Karaman, B. Çelik and A. Karaoğlan, Integral Inequalities of Steffensen Type for Some Different Classes of Functions, Eastern Anatolian Journal of Science, Vol. 9, Issue 2, 37-45, 2023.

One of the most important results obtained for convex functions is the inequality given below which is known as Hermite Hadamard inequality in the literature.

Assume that $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is a convex function defined on the interval I of \mathbb{R} where $a < b$. The following statement holds

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}. \quad (1.2)$$

Both inequalities hold in the reversed direction if f is concave.

One of the functions defined in the class of convex functions is the η -convex function. In (Gordji et al. 2015), Gordji et al. introduced the idea of η -convex functions as generalization of ordinary convex functions and gave the following definition for η -convexity of functions.

Definition 1.2 A function $f : [a, b] \rightarrow \mathbb{R}$ is said to be η -convex (or convex with respect to η) if the inequality

$$f(\lambda x + (1-\lambda)y) \leq f(y) + \lambda \eta(f(x), f(y))$$

holds for all $x, y \in [a, b]$, $\lambda \in [0, 1]$ and η is defined by $\eta : f([a, b]) \times f([a, b]) \rightarrow \mathbb{R}$.

In the above definition if we set $\eta(x, y) = x - y$, then we can directly obtain the classical definition of a convex function. To see more results and details on η -convex functions see (Delavar and Dragomir 2017, Gordji et al. 2015, Gordji et al. 2016).

Another function defined in the different class of functions is the P function and its definition is given below.

Definition 1.3 (Dragomir et al. 1995) A function $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is P function or that f belongs to the class of $P(I)$, if it is nonnegative and for $a, b \in I$ and $\lambda \in [0, 1]$ satisfies the following inequality,

$$f(\lambda a + (1-\lambda)b) \leq f(a) + f(b).$$

The Hermite-Hadamard inequality obtained for P functions is as follows.

Theorem 1.1 (Dragomir et al. 1995, Dragomir and Pearce 200) Let $I = [a, b]$. Let $P(I)$ be class of P functions defined on I and $f \in P(I)$ be integrable function, then the following inequality of Hermite-Hadamard type holds

$$f\left(\frac{a+b}{2}\right) \leq \frac{2}{b-a} \int_a^b f(x) dx \leq 2(f(a) + f(b)). \quad (1.3)$$

In order to study certain inequalities between mean values, Steffensen (Steffensen 1918) has proved to following inequality (see also (Mitrinovic 1993, p.311)):

Theorem 1.2 Let f and g be two integrable functions defined on (a, b) . f is decreasing and for each $t \in (a, b)$, $0 \leq g(t) \leq 1$. Then, the following inequality

$$\int_{b-\lambda}^b f(t) dt \leq \int_a^b f(t) g(t) dt \leq \int_a^{a+\lambda} f(t) dt \quad (1.4)$$

holds, where $\lambda = \int_a^b g(t) dt$.

Some minor generalization of Steffensen's inequality in the (1.4) was considered by Hayashi (Hayashi 1919), using the substituting $g(t)/A$ for $g(t)$, where A is positive constant. For other result involving Steffensen's type inequality, see (Hayashi 1919, Mitrinovic et al. 1993).

In (Mitrinovic et al. 1993), Mitrinovic et al. proved the following equality:

Lemma 1.1 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$ and $\int_a^b g(t) f'(t) dt$ exists. Then we have the following representation

$$\int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \quad (1.5)$$

$$= -\int_a^{a+\lambda} \left(\int_a^x (1-g(t)) dt \right) f'(x) dx - \int_{a+\lambda}^b \left(\int_x^b g(t) dt \right) f'(x) dx,$$

and

$$\int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \quad (1.6)$$

$$= -\int_a^{b-\lambda} \left(\int_a^x g(t) dt \right) f'(x) dx - \int_{b-\lambda}^b \left(\int_x^b (1-g(t)) dt \right) f'(x) dx,$$

where $\lambda := \int_a^b g(t) dt$.

In (Alomari et al. 2017), using this identity, Alomari introduced some new Steffensen type inequalities for s -convex functions.

The aim of this paper is to obtain new integral inequalities of Steffensen type for η -convex functions and P function.

2. Steffensen's type inequalities for η -convex function

Theorem 2.1 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$ such that $\int_a^b g(t) f'(t) dt$ exists. If f is absolutely continuous on $[a, b]$ such that $|f'|$ is η -convex function on $[a, b]$, then we have

$$\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \leq \frac{\lambda^2}{6} \left[3|f'(a)| + 2\eta(|f'(a+\lambda)|, |f'(a)|) \right] + \frac{(b-a-\lambda)^2}{6} \left[3|f'(a+\lambda)| + \eta(|f'(b)|, |f'(a+\lambda)|) \right] \quad (2.1)$$

and

$$\left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right| \leq \frac{(b-a-\lambda)^2}{6} \left[3|f'(a)| + \frac{2(b-a-\lambda)\eta(|f'(a+\lambda)|, |f'(a)|)}{\lambda} \right] + \frac{\lambda^2}{6} \left[3|f'(a+\lambda)| + \frac{(3b-3a-5\lambda)\eta(|f'(b)|, |f'(a+\lambda)|)}{b-a-\lambda} \right] \quad (2.2)$$

where $\lambda := \int_a^b g(t) dt$.

Proof. Using Lemma 1.1 and since $|f'|$ is η -convex function, we have

$$\begin{aligned}
& \left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \\
& \leq \left| \int_a^{a+\lambda} \left(\int_a^x (1-g(t)) dt \right) f'(x) dx \right| + \left| \int_{a+\lambda}^b \left(\int_x^b g(t) dt \right) f'(x) dx \right| \\
& \leq \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| |f'(x)| dx + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| |f'(x)| dx \\
& = \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| \left| f' \left(\frac{x-a}{\lambda} (a+\lambda) + \frac{a+\lambda-x}{\lambda} a \right) \right| dx \\
& + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| \left| f' \left(\frac{x-a-\lambda}{b-a-\lambda} b + \frac{b-x}{b-a-\lambda} (a+\lambda) \right) \right| dx \\
& \leq \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| \left[|f'(a)| + \frac{x-a}{\lambda} \eta(|f'(a+\lambda)|, |f'(a)|) \right] dx \\
& + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| \left[|f'(a+\lambda)| + \frac{x-a-\lambda}{b-a-\lambda} \eta(|f'(b)|, |f'(a+\lambda)|) \right] dx \\
& = \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| |f'(a)| dx \\
& + \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| \frac{x-a}{\lambda} \eta(|f'(a+\lambda)|, |f'(a)|) dx \\
& + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| |f'(a+\lambda)| dx \\
& + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| \frac{x-a-\lambda}{b-a-\lambda} \eta(|f'(b)|, |f'(a+\lambda)|) dx \\
& \leq |f'(a)| \int_a^{a+\lambda} (x-a) dx + \frac{\eta(|f'(a+\lambda)|, |f'(a)|)}{\lambda} \int_a^{a+\lambda} (x-a)^2 dx \\
& + |f'(a+\lambda)| \int_{a+\lambda}^b (b-x) dx + \frac{\eta(|f'(b)|, |f'(a+\lambda)|)}{b-a-\lambda} \int_{a+\lambda}^b (b-x)(x-a-\lambda) dx \\
& = \frac{\lambda^2}{2} |f'(a)| + \frac{\lambda^3}{3} \frac{\eta(|f'(a+\lambda)|, |f'(a)|)}{\lambda}
\end{aligned}$$

$$\begin{aligned}
& + \frac{(b-a-\lambda)^2}{2} |f'(a+\lambda)| + \frac{(b-a-\lambda)^3}{6} \frac{\eta(|f'(b)|, |f'(a+\lambda)|)}{b-a-\lambda} \\
& = \frac{\lambda^2}{6} [3|f'(a)| + 2\eta(|f'(a+\lambda)|, |f'(a)|)] \\
& + \frac{(b-a-\lambda)^2}{6} [3|f'(a+\lambda)| + \eta(|f'(b)|, |f'(a+\lambda)|)]
\end{aligned}$$

and so we proved inequality (2.1). Then similarly

$$\begin{aligned}
& \left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right| \\
& \leq \left| \int_a^{b-\lambda} \left(\int_a^x g(t) dt \right) f'(x) dx \right| + \left| \int_{b-\lambda}^b \left(\int_x^b (1-g(t)) dt \right) f'(x) dx \right| \\
& \leq \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| |f'(x)| dx + \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| |f'(x)| dx \\
& = \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| \left| f' \left(\frac{x-a}{\lambda} (a+\lambda) + \frac{a+\lambda-x}{\lambda} a \right) \right| dx \\
& + \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| \left| f' \left(\frac{x-a-\lambda}{b-a-\lambda} b + \frac{b-x}{b-a-\lambda} (a+\lambda) \right) \right| dx \\
& \leq \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| \left[|f'(a)| + \frac{x-a}{\lambda} \eta(|f'(a+\lambda)|, |f'(a)|) \right] dx \\
& + \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| \left[|f'(a+\lambda)| + \frac{x-a-\lambda}{b-a-\lambda} \eta(|f'(b)|, |f'(a+\lambda)|) \right] dx \\
& = |f'(a)| \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| dx + \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| \frac{x-a}{\lambda} \eta(|f'(a+\lambda)|, |f'(a)|) dx \\
& + |f'(a+\lambda)| \int_{b-\lambda}^b \left| \int_x^b g(t) dt \right| dx \\
& + \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| \frac{x-a-\lambda}{b-a-\lambda} \eta(|f'(b)|, |f'(a+\lambda)|) dx
\end{aligned}$$

$$\begin{aligned} &\leq |f'(a)| \int_a^{b-\lambda} (x-a) dx + \frac{\eta(|f'(a+\lambda)|, |f'(a)|)}{b-a-\lambda} \int_a^{b-\lambda} (x-a)^2 dx \\ &+ |f'(a+\lambda)| \int_{b-\lambda}^b (b-x) dx + \frac{\eta(|f'(b)|, |f'(a+\lambda)|)}{b-a-\lambda} \int_{b-\lambda}^b (b-x)(x-a-\lambda) dx \\ &= \frac{(b-a-\lambda)^2}{2} |f'(a)| + \frac{(b-a-\lambda)^3}{3} \frac{\eta(|f'(a+\lambda)|, |f'(a)|)}{\lambda} \\ &+ |f'(a+\lambda)| \frac{\lambda^2}{2} + \frac{\lambda^2(3b-3a-5\lambda)}{6} \frac{\eta(|f'(b)|, |f'(a+\lambda)|)}{b-a-\lambda} \end{aligned}$$

and so we proved inequality (2.2).

Theorem 2.2 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$ such that $\int_a^b g(t) f'(t) dt$ exists. If f is absolutely continuous on $[a, b]$ such that $|f'|$ is η -convex function on $[a, b]$, then we have

$$\begin{aligned} &\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \\ &\leq \int_{a+\lambda}^b g(t) dt \left[\lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right) \right. \\ &\quad \left. + (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right) \right] \\ &\leq (b-a-\lambda) \left[\lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right) \right. \\ &\quad \left. + (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right) \right] \end{aligned} \tag{2.3}$$

and

$$\left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right|$$

$$\begin{aligned} &\leq \int_{b-\lambda}^b g(t) dt \left[(b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right) \right. \\ &\quad \left. + \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right) \right] \\ &\leq (b-a-\lambda) \left[(b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right) \right. \\ &\quad \left. + \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right) \right] \end{aligned}$$

where $\lambda := \int_a^b g(t) dt$.

Proof. From Lemma 1.1, we have

$$\begin{aligned} &\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \leq \sup_{x \in [a, a+\lambda]} \left[\int_a^x (1-g(t)) dt \right] \int_a^{a+\lambda} |f'(x)| dx \\ &+ \sup_{x \in [a+\lambda, b]} \left[\int_x^b g(t) dt \right] \int_{a+\lambda}^b |f'(x)| dx. \end{aligned}$$

Since $|f'|$ is η -convex on $[a, b]$, we get

$$\int_a^{a+\lambda} |f'(x)| dx \leq \lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right),$$

and

$$\int_{a+\lambda}^b |f'(x)| dx \leq (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right).$$

Therefore, we have

$$\begin{aligned} &\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \\ &\leq \lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right) \left[\int_a^{a+\lambda} (1-g(t)) dt \right] \\ &+ (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right) \left[\int_{a+\lambda}^b g(t) dt \right] \\ &\leq \max \left\{ \int_a^{a+\lambda} (1-g(t)) dt, \int_{a+\lambda}^b g(t) dt \right\} \left[\lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right) \right. \\ &\quad \left. + (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right) \right] \end{aligned}$$

$$= \int_{a+\lambda}^b g(t) dt \left[\lambda \left(|f'(a+\lambda)| + \frac{\eta(|f'(a)|, |f'(a+\lambda)|)}{2} \right) \right. \\ \left. + (b-a-\lambda) \left(|f'(b)| + \frac{\eta(|f'(a+\lambda)|, |f'(b)|)}{2} \right) \right]$$

which proves the first inequality (2.3). The second inequality in (2.3) follows directly, since $0 \leq g(t) \leq 1$ for all $t \in [a, b]$, then

$$0 \leq \int_{a+\lambda}^b g(t) dt \leq b-a-\lambda.$$

Similarly

$$\left| \int_a^{b-\lambda} f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \leq \sup_{x \in [a, b-\lambda]} \left[\int_a^x g(t)dt \right] \int_a^{b-\lambda} |f'(x)| dx \\ + \sup_{x \in [b-\lambda, b]} \left[\int_x^b (1-g(t))dt \right] \int_{b-\lambda}^b |f'(x)| dx.$$

Since $|f'|$ is η -convex on $[a, b]$, we get

$$\int_a^{b-\lambda} |f'(x)| dx \leq (b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right),$$

and

$$\int_{b-\lambda}^b |f'(x)| dx \leq \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right).$$

Therefore, we have

$$\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \\ \leq (b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right) \left[\int_a^{b-\lambda} g(t)dt \right] \\ + \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right) \left[\int_{b-\lambda}^b (1-g(t))dt \right] \\ \leq \max \left\{ \int_a^{b-\lambda} g(t)dt, \int_{b-\lambda}^b (1-g(t))dt \right\} \left[(b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right) \right. \\ \left. + \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right) \right] \\ = \int_{b-\lambda}^b g(t)dt \left[(b-a-\lambda) \left(|f'(b-\lambda)| + \frac{\eta(|f'(a)|, |f'(b-\lambda)|)}{2} \right) \right. \\ \left. + \lambda \left(|f'(b)| + \frac{\eta(|f'(b-\lambda)|, |f'(b)|)}{2} \right) \right]$$

which proves the first inequality (2.4). The second inequality in (2.4) follows directly, since $0 \leq g(t) \leq 1$ for all $t \in [a, b]$, then

$$0 \leq \int_a^{b-\lambda} g(t)dt \leq b-a-\lambda.$$

Theorem 2.3 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$ such that $\int_a^b g(t)f'(t)dt$ exists. If f is absolutely continuous on $[a, b]$ such that $|f'|$ is η -convex function on $[a, b]$ and $q > 1$, then we have

$$\left| \int_a^{a+\lambda} f(x)dx - \int_a^b f(x)g(x)dx \right| \\ \leq \frac{\lambda^2}{(p+1)^{\frac{1}{p}}} \left[\left(|f'(a+\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(a+\lambda)|^q)}{2} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{(b-a-\lambda)^2}{(p+1)^{\frac{1}{p}}} \left(|f'(b)|^q + \frac{\eta(|f'(a+\lambda)|^q, |f'(b)|^q)}{2} \right)^{\frac{1}{q}} \right] \tag{2.5}$$

and

$$\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \\ \leq \frac{(b-a-\lambda)^2}{(p+1)^{\frac{1}{p}}} \left[\left(|f'(b-\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(b-\lambda)|^q)}{2} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{\lambda^2}{(p+1)^{\frac{1}{p}}} \left(|f'(b)|^q + \frac{\eta(|f'(b-\lambda)|^q, |f'(b)|^q)}{2} \right)^{\frac{1}{q}} \right] \tag{2.6}$$

where $\lambda := \int_a^b g(t)dt$.

Proof. From Lemma 1.1, η -convexity of $|f'|^q$ and using the Hölder inequality for $q > 1$, and

$$p = \frac{q}{q-1}, \text{ we obtain}$$

$$\left| \int_a^{a+\lambda} f(x)dx - \int_a^b f(x)g(x)dx \right| \\ \leq \int_a^{a+\lambda} \left| \int_a^x (1-g(t))dt \right| |f'(x)| dx + \int_{a+\lambda}^b \left| \int_x^b g(t)dt \right| |f'(x)| dx \\ \leq \left(\int_a^{a+\lambda} \left| \int_a^x (1-g(t))dt \right|^p dx \right)^{\frac{1}{p}} \left(\int_a^{a+\lambda} |f'(x)|^q dx \right)^{\frac{1}{q}}$$

$$+ \left(\int_{a+\lambda}^b \left| \int_x^b g(t) dt \right|^p dx \right)^{\frac{1}{p}} \left(\int_{a+\lambda}^b |f'(x)|^q dx \right)^{\frac{1}{q}} := M \quad (2.7)$$

where p is the conjugate of q .

Since $|f'|^q$ is η -convex on $[a, b]$, we have

$$\int_a^{a+\lambda} |f'(x)|^q dx \leq \lambda \left(|f'(a+\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(a+\lambda)|^q)}{2} \right),$$

and

$$\int_{a+\lambda}^b |f'(x)|^q dx \leq (b-a-\lambda) \left(|f'(b)|^q + \frac{\eta(|f'(a+\lambda)|^q, |f'(b)|^q)}{2} \right)$$

which gives by (2.7)

$$\begin{aligned} M &\leq \left(\int_a^{a+\lambda} (x-a)^p dx \right)^{\frac{1}{p}} \lambda^{\frac{1}{q}} \left[|f'(a+\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(a+\lambda)|^q)}{2} \right]^{\frac{1}{q}} \\ &+ \left(\int_{a+\lambda}^b (b-x)^p dx \right)^{\frac{1}{p}} (b-a-\lambda)^{\frac{1}{q}} \left[|f'(b)|^q + \frac{\eta(|f'(a+\lambda)|^q, |f'(b)|^q)}{2} \right]^{\frac{1}{q}} \\ &= \frac{\lambda^2}{(p+1)^{\frac{1}{p}}} \left[|f'(a+\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(a+\lambda)|^q)}{2} \right]^{\frac{1}{q}} \\ &+ \frac{(b-a-\lambda)^2}{(p+1)^{\frac{1}{p}}} \left[|f'(b)|^q + \frac{\eta(|f'(a+\lambda)|^q, |f'(b)|^q)}{2} \right]^{\frac{1}{q}} \end{aligned}$$

giving the inequality (2.5). Similarly

$$\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \quad (2.8)$$

$$\leq \int_a^{b-\lambda} \left| \int_a^x g(t)dt \right| |f'(x)| dx + \int_{b-\lambda}^b \left| \int_x^b (1-g(t))dt \right| |f'(x)| dx$$

$$\leq \left(\int_a^{b-\lambda} \left| \int_a^x g(t)dt \right|^p dx \right)^{\frac{1}{p}} \left(\int_a^{b-\lambda} |f'(x)|^q dx \right)^{\frac{1}{q}}$$

$$+ \left(\int_{b-\lambda}^b \left| \int_x^b (1-g(t))dt \right|^p dx \right)^{\frac{1}{p}} \left(\int_{b-\lambda}^b |f'(x)|^q dx \right)^{\frac{1}{q}} := N$$

where p is the conjugate of q .

Since $|f'|^q$ is η -convex on $[a, b]$, we have

$$\int_a^{b-\lambda} |f'(x)|^q dx \leq (b-a-\lambda) \left(|f'(b-\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(b-\lambda)|^q)}{2} \right),$$

and

$$\int_{b-\lambda}^b |f'(x)|^q dx \leq \lambda \left(|f'(b)|^q + \frac{\eta(|f'(b-\lambda)|^q, |f'(b)|^q)}{2} \right)$$

which gives by (2.8)

$$\begin{aligned} N &\leq \left(\int_a^{b-\lambda} (x-a)^p dx \right)^{\frac{1}{p}} (b-a-\lambda)^{\frac{1}{q}} \left[|f'(b-\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(b-\lambda)|^q)}{2} \right]^{\frac{1}{q}} \\ &+ \left(\int_{b-\lambda}^b (b-x)^p dx \right)^{\frac{1}{p}} \lambda^{\frac{1}{q}} \left[|f'(b)|^q + \frac{\eta(|f'(b-\lambda)|^q, |f'(b)|^q)}{2} \right]^{\frac{1}{q}} \end{aligned}$$

$$= \frac{(b-a-\lambda)^2}{(p+1)^{\frac{1}{p}}} \left[|f'(b-\lambda)|^q + \frac{\eta(|f'(a)|^q, |f'(b-\lambda)|^q)}{2} \right]^{\frac{1}{q}}$$

$$+ \frac{\lambda^2}{(p+1)^{\frac{1}{p}}} \left[|f'(b)|^q + \frac{\eta(|f'(b-\lambda)|^q, |f'(b)|^q)}{2} \right]^{\frac{1}{q}}$$

giving the inequality (2.6).

3. Steffensen's type inequalities for P -function

Theorem 3.1 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$

such that $\int_a^b g(t)f'(t)dt$ exists. If f is absolutely

continuous on $[a, b]$ such that $|f'|$ is P function

on $[a, b]$, then we have

$$\left| \int_a^{a+\lambda} f(x)dx - \int_a^b f(x)g(x)dx \right| \quad (3.1)$$

$$\leq \frac{\lambda^2}{2} [|f'(a)| + |f'(a+\lambda)|] + \frac{(b-a-\lambda)^2}{2} [|f'(b)| + |f'(a+\lambda)|]$$

and

$$\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \quad (3.2)$$

$$\leq \frac{(b-a-\lambda)^2}{2} [|f'(a)| + |f'(a+\lambda)|] + \frac{\lambda^2}{2} [|f'(b)| + |f'(a+\lambda)|]$$

where $\lambda := \int_a^b g(t)dt$.

Proof. Using Lemma 1.1 and since $|f'|$ is P function, we have

$$\left| \int_a^{a+\lambda} f(x)dx - \int_a^b f(x)g(x)dx \right|$$

$$\leq \left| \int_a^{a+\lambda} \left(\int_a^x (1-g(t))dt \right) f'(x)dx \right| + \left| \int_{a+\lambda}^b \left(\int_x^b g(t)dt \right) f'(x)dx \right|$$

$$\leq \int_a^{a+\lambda} \left| \int_a^x (1-g(t))dt \right| |f'(x)| dx + \int_{a+\lambda}^b \left| \int_x^b g(t)dt \right| |f'(x)| dx$$

$$\begin{aligned}
 &= \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| \left| f' \left(\frac{x-a}{\lambda} (a+\lambda) + \frac{a+\lambda-x}{\lambda} a \right) \right| dx \\
 &+ \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| \left| f' \left(\frac{x-a-\lambda}{b-a-\lambda} b + \frac{b-x}{b-a-\lambda} (a+\lambda) \right) \right| dx \\
 &\leq \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| \left[|f'(a+\lambda)| + |f'(a)| \right] dx \\
 &+ \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| \left[|f'(b)| + |f'(a+\lambda)| \right] dx \\
 &= \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| |f'(a+\lambda)| dx + \int_a^{a+\lambda} \left| \int_a^x (1-g(t)) dt \right| |f'(a)| dx \\
 &+ \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| |f'(b)| dx + \int_{a+\lambda}^b \left| \int_x^b g(t) dt \right| |f'(a+\lambda)| dx \\
 &\leq \int_a^{a+\lambda} (x-a) |f'(a+\lambda)| dx + \int_a^{a+\lambda} (x-a) |f'(a)| dx \\
 &+ \int_{a+\lambda}^b (b-x) |f'(b)| dx + \int_{a+\lambda}^b (b-x) |f'(a+\lambda)| dx \\
 &= |f'(a+\lambda)| \int_a^{a+\lambda} (x-a) dx + |f'(a)| \int_a^{a+\lambda} (x-a) dx \\
 &+ |f'(b)| \int_{a+\lambda}^b (b-x) dx + |f'(a+\lambda)| \int_{a+\lambda}^b (b-x) dx \\
 &= \frac{\lambda^2}{2} [|f'(a+\lambda)| + |f'(a)|] + \frac{(b-a-\lambda)^2}{2} [|f'(b)| + |f'(a+\lambda)|]
 \end{aligned}$$

and so we proved inequality (3.1). Then similarly

$$\begin{aligned}
 &\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \\
 &\leq \left| \int_a^{b-\lambda} \left(\int_a^x g(t) dt \right) f'(x) dx \right| + \left| \int_{b-\lambda}^b \left(\int_x^b (1-g(t)) dt \right) f'(x) dx \right| \\
 &\leq \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| |f'(x)| dx + \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| |f'(x)| dx \\
 &= \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| \left| f' \left(\frac{x-a}{\lambda} (a+\lambda) + \frac{a+\lambda-x}{\lambda} a \right) \right| dx \\
 &+ \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| \left| f' \left(\frac{x-a-\lambda}{b-a-\lambda} b + \frac{b-x}{b-a-\lambda} (a+\lambda) \right) \right| dx \\
 &\leq \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| \left[|f'(a+\lambda)| + |f'(a)| \right] dx
 \end{aligned}$$

$$\begin{aligned}
 &+ \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| \left[|f'(b)| + |f'(a+\lambda)| \right] dx \\
 &= |f'(a+\lambda)| \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| dx + |f'(a)| \int_a^{b-\lambda} \left| \int_a^x g(t) dt \right| dx \\
 &+ |f'(b)| \int_{b-\lambda}^b \left| \int_x^b g(t) dt \right| dx + |f'(a+\lambda)| \int_{b-\lambda}^b \left| \int_x^b (1-g(t)) dt \right| dx \\
 &\leq |f'(a+\lambda)| \int_a^{b-\lambda} (x-a) dx + |f'(a)| \int_a^{b-\lambda} (x-a) dx \\
 &+ |f'(b)| \int_{b-\lambda}^b (b-x) dx + |f'(a+\lambda)| \int_{b-\lambda}^b (b-x) dx \\
 &= \frac{(b-a-\lambda)^2}{2} [|f'(a+\lambda)| + |f'(a)|] + \frac{\lambda^2}{2} [|f'(b)| + |f'(a+\lambda)|]
 \end{aligned}$$

and so we proved inequality (3.2).

Theorem 3.2 Let $f, g : [a, b] \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ be integrable such that $0 \leq g(t) \leq 1$, for all $t \in [a, b]$ such that $\int_a^b g(t)f'(t)dt$ exists. If f is absolutely continuous on $[a, b]$ such that $|f'|$ is P function on $[a, b]$, then the following inequalities holds

$$\begin{aligned}
 &\left| \int_a^{a+\lambda} f(x)dx - \int_a^b f(x)g(x)dx \right| \\
 &\leq \left(\int_a^{b-\lambda} g(t) dt \right) \left[\lambda (|f'(a)| + |f'(a+\lambda)|) + (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|) \right] \\
 &\leq (b-a-\lambda) \lambda (|f'(a)| + |f'(a+\lambda)|) + (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|) \\
 &\text{and} \\
 &\left| \int_a^b f(x)g(x)dx - \int_{b-\lambda}^b f(x)dx \right| \\
 &\leq \left(\int_a^{b-\lambda} g(t) dt \right) \left[(b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) + \lambda (|f'(b)| + |f'(b-\lambda)|) \right] \\
 &\leq \lambda (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) + \lambda (|f'(b)| + |f'(b-\lambda)|)
 \end{aligned}$$

where $\lambda := \int_a^b g(t)dt$.

Proof. From Lemma 1.1, we can write

$$\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right| \leq \sup_{x \in [a, a+\lambda]} \left[\int_a^x (1-g(t)) dt \right] \int_a^{a+\lambda} |f'(x)| dx$$

$$+ \sup_{x \in [a+\lambda, b]} \left[\int_x^b g(t) dt \right] \int_{a+\lambda}^b |f'(x)| dx.$$

Since $|f'|$ is P function on $[a, b]$ and using (1.3), we have

$$\int_a^{a+\lambda} |f'(x)| dx \leq \lambda (|f'(a)| + |f'(a+\lambda)|),$$

and

$$\int_{a+\lambda}^b |f'(x)| dx \leq (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|).$$

Therefore, we have

$$\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right|$$

$$\leq \lambda (|f'(a)| + |f'(a+\lambda)|) \left[\int_a^{a+\lambda} (1-g(t)) dt \right]$$

$$+ (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|) \left[\int_{a+\lambda}^b g(t) dt \right]$$

$$\leq \max \left\{ \int_a^{a+\lambda} (1-g(t)) dt, \int_{a+\lambda}^b g(t) dt \right\} \lambda (|f'(a)| + |f'(a+\lambda)|)$$

$$+ (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|)$$

$$= \left(\int_{a+\lambda}^b g(t) dt \right) \lambda (|f'(a)| + |f'(a+\lambda)|) + (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|).$$

Since $0 \leq g(t) \leq 1$ for all $t \in [a, b]$, we can write

$$0 \leq \int_{a+\lambda}^b g(t) dt \leq b-a-\lambda.$$

So, we obtained

$$\left| \int_a^{a+\lambda} f(x) dx - \int_a^b f(x) g(x) dx \right|$$

$$\leq \left(\int_{a+\lambda}^b g(t) dt \right) \lambda (|f'(a)| + |f'(a+\lambda)|) + (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|)$$

$$\leq (b-a-\lambda) \lambda (|f'(a)| + |f'(a+\lambda)|) + (b-a-\lambda) (|f'(a+\lambda)| + |f'(b)|).$$

Similarly

$$\left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right| \leq \sup_{x \in [a, b-\lambda]} \left[\int_a^x g(t) dt \right] \int_a^{b-\lambda} |f'(x)| dx$$

$$+ \sup_{x \in [b-\lambda, b]} \left[\int_x^b (1-g(t)) dt \right] \int_{b-\lambda}^b |f'(x)| dx.$$

Since $|f'|$ is P function on $[a, b]$ and using (1.3), we get

$$\int_a^{b-\lambda} |f'(x)| dx \leq (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|),$$

and

$$\int_{b-\lambda}^b |f'(x)| dx \leq \lambda (|f'(b)| + |f'(b-\lambda)|).$$

Therefore, we have

$$\left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right|$$

$$\leq (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) \left[\int_a^{b-\lambda} g(t) dt \right]$$

$$+ \lambda (|f'(b)| + |f'(b-\lambda)|) \left[\int_{b-\lambda}^b (1-g(t)) dt \right]$$

$$\leq \max \left\{ \int_a^{b-\lambda} g(t) dt, \int_{b-\lambda}^b (1-g(t)) dt \right\} (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|)$$

$$+ \lambda (|f'(b)| + |f'(b-\lambda)|)$$

$$= \left(\int_{b-\lambda}^b (1-g(t)) dt \right) (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) + \lambda (|f'(b)| + |f'(b-\lambda)|)$$

Since $0 \leq g(t) \leq 1$ for all $t \in [a, b]$, we can write

$$0 \leq \int_{b-\lambda}^b (1-g(t)) dt \leq \lambda.$$

So, we obtained

$$\left| \int_a^b f(x) g(x) dx - \int_{b-\lambda}^b f(x) dx \right|$$

$$\leq \left(\int_a^{b-\lambda} g(t) dt \right) (b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) + \lambda (|f'(b)| + |f'(b-\lambda)|)$$

$$\leq \lambda [(b-a-\lambda) (|f'(b-\lambda)| + |f'(a)|) + \lambda (|f'(b)| + |f'(b-\lambda)|)]$$

and the proof is completed.

4. Conclusion

In the present paper, we prove some Steffensen's type inequalities by utilizing P -function and η -convex function. The new bounds can establish by used different classes of convex functions instead of this convex functions by researches interested in the subject.

References

- ALOMARI, M.W., HUSSAIN, S., LIU, Z. (2017). Some Steffensen-type inequalities, *Advances in Pure and Applied Mathematics*, 8(3), 219-226.
- DRAGOMIR, S.S., PECARIC, J., PERSON, L.E. (1995). Some inequalities of Hadamard type, *Soochow J. Math.*, 21(3), 335-341.
- DRAGOMIR, S.S., PEARCE, C.E.M. (2000). Selected Topics on Hermite-Hadamard Inequalities and Applications, Victoria University.
- DELAVAR, M.R. DRAGOMIR, S.S. (2017). On η -convexity, *Mathematical Inequalities and Applications*, 20(1), 203-216.
- HAYASHI, T. (1919). On curves with monotonous curvature, *Tôhoku Math. J.*, 15, 236-239.
- GORDJI, M.E., DELAVAR, M.R., DRAGOMIR, S.S. (2015). Some inequality related to η -convex function, *RGMA* 18, Art. 8., 1-14.
- GORDJI, M.E., DRAGOMIR, S.S., DELAVAR, M.R. (2015). An inequality related to η -convex functions (II), *Int. J. Nonlinear Anal. Appl.*, 6(2), 27-33.
- GORDJI, M.E., DELAVAR, M.R., DE LA SEN, M. (2016). On φ -convex functions, *Journal of Mathematical Inequalities*, 10(1), 173-183.
- MITRINOVIC, D.S., PECARIC, J.E., FINK, A.M. (1993). *Classical and new inequalities in analysis*, Kluwer, Dordrecht.
- STEFFENSEN, J.F. (1918). On certain inequalities between mean values and their application to actuarial problems, *Scandinavian Actuarial Journal*, 1918(1), 82-97.